CALCULUS 1

DIFFERENTIATION: USING THE CHAIN RULE

WORKED EXAMPLES

Note: if fand g are differentiable functions, then i f ( g (x) =f ' ( g (x) * g' (x) or in other words, let y =

f(uw) and u = g(x) then —
dx

D f(x)=(x+1)
) f(x)=A1-2
3) w=(
4) w=(
5) w:(\/;+1)100
6 /(t)

dy_a’_y*du

du

dx

dx

17) g(t) _ e(1+3t)2
18) Z(x) =32°+5
19) z=2""

20) w= (x2 *57 )3

3w

21) y=e?
22) y=e™
23) y=+ls +1
24) w=el
25) y=te"

26) f(z) Jze”

|

27) z =

z

NQI 8

28) y=

22
29) f(t)=t"

2x

e
32) y=
Y X +1

1

e +x

34) h(z):( b I

2
a+z

33) y=

2

35) h(x)=2"

36) f(z)=

(ez Jrl)2

1
1+e

37) f(0)=

0
38) f(x)=6e" +e*

39) f(w) = (SW2 +3)ew2

40) w=(t2 +3t)(1—e‘2’)



1)

2)

3)

4)

5)

6)

7)

8)

SOLUTIONS

f()=(x+1)” w(r)=5(r 1) (4)
7/(x)=99(x+1)" et
f(x)=v1-x* :>(1—x2); (r4+1)2
7(9=31-2)>(2 ) B

-2x —X & (x)=7ze

T el
w=(t2+1)100 |
99 99 f'(e):ln_<2_0)
w'=100(¢*+1) " (2£) =200¢(£* +1)
1) y ="
w= (e +1)" y=tnr(z?)
w=100(F +1)" (37) =300 (£ +1) 12) g(x)=3>""
g'(x)=2mm3(3%7)
W=(\/;+1)100:>(12+1j 13) h(x):(x3 -|—ex)4
o % % 1 99_50(\/;_’_1)99 h'(x) (x +ex)3(3x2+ex)
W= 1oo£t +j —— 4) /() (x o5
f'(x)=2 (x +5 )+(ezx)(2x+5"ln5)
f(l)=e3’ =™ {2(x*+5° 2x+5"In5
h(w)z(w4 —2w)5 15) v(t)=r’¢
h(w)= S(W4 - 2W)4 (4W3 - 2) V(t) =2t —t’ce™
1 = (2t —ct*)

w(r)=vr'+1 :>(r4+1)E 16) p(t) ="

pr (1) — 4e4t+2



17) g(l) _ e(1+3t)2

g'(t)=2(1+3¢)3 34
=6(1+3t)e™ JENEE
24) w=el" = ¢
1 — 2 e
!=_ 2.5
w 2S e Z>2\/;
1 25) y=te™"
18) z(x) =2 +5 = (2" +5)’ g N
) y'=(1)(e_t )+te_' (—2t)
z'(x)=1(2"+5)‘5 n2(2") !
3 26) f(z)=+ze" = 22
_ 2"In2 . |
W5y F= e
19) z =2 e’ -
Z'=5In2(2"") - N;“/;e
1
. !
20) w=,(2**5°) = (2 *57) 27) z:£f:> z
. e e
w'=%(x2*5x)2(2x*5x+5xln5*x2) ;;__\/;ez
gz

zi(xz *5*);(x*5x)(2+x1n5)

2
_3 2 3x z
=—x"45 (2+xln5) 28))/‘: =

2Z z

3w

2)) y=e?

1

23) y:\/s3 +1 = (33 +1)5



2x

1 1
e g
Y= 2 , 2™ (x2 +1)—2xezx
y =
2| Ie-dem2) (" +1)
= = (factor out 22) ) 22" (x2 +1—x)
1 o (ee)
—\/Zlnz (x +1)
=2\/;2—Z (cancel 27) 26 (x* —x+1)
1-2zIn2 i (x+1)
= 2\/22 (common denominator) -l
2 33) y= = (e +27)
1222 (o €+’
= 22*2\/; (mu iply by Z) y’:—l(e3x+x2)_2(3e3x+2x)
_1-2zIn2 3¢™ + 2x
2”1*\/; :_(e3x+x2)2

29) f(t)=te"™
(0= ) i (-2)

= (1-21)
30) y=| X2 2:>l(x2+2)2
3 9

y':l*z(x2+2)2x

4
:?x(x2 +2)
1

X +9 [xz +9]2
=

31) h(x)= 3 3

240 i[zx(x+3)—(1)(x2+9)J

(x+3)2

1
22X +6x—x -9
(x+3)2

X’ +6x-9
(x+3)2

' b Y[ (0)(a+z)-2bz
s ()| o)
_ -8b'z
(a+z2)5
35) h(x)=2"
i (x)=(2")(3¢" ) n2
36)f(z)_(ez+1)2 = (" +1)
7(z)=2(e +1) (<)
_ —2e°
(e2+1)3
IO



(l+e"’)2
38) f(x)=6e" +e™
f'(x)=30e™ —2xe™
39) f(w)=(5w" +3)e”
£(w)=(e” 10w+ (5w +3)(2we™ )
=10we" + (5w +3)(2we” )
=2we" (5+5w +3)
=2we" (5w +8)

40) w=(£ +3t)(1-¢™)
w'=(2t+3)(1-€™)+(* +3t)(2¢™)



